Electrician Theory 2nd Year NIMI Question

Module-5: alternator | 3TeeIaieX

Q1 Which formula is used to calculate EMF/phase in a ideal alternator? | Te 31egT 3eeiaex
# EMF / T I 310TeAT &t o ToIT fohdl T ol 3UTeT fohdlm STl 572

@ FT
A 2.22
FT
E_ @FT
B 4.44
c E=2224FT
D E=444 ,FT
answer:D,
Q 2 Which rule is used to find the direction of induced emf in an alternator? | 3Tee<aiet H

IR STATE ST &2 @ietet & T fFa T &1 39T foham SIrar 872
A Cork screw rule | shidh ThicTIeT

B Right hand palm rule | &Tfgs1 &1 T gelt &1 fag#

C Fleming's left hand rule | Felf&3T o &TT &1 &l fT&

D Fleming's right hand rule | FIf&aT & &Tfgt &1 &1 fozreT

answer:D

Q 3 What is the name of the part of alternator? | 3TeeIaex o HTIT T ATH FIT 72

B Exciter | 3dsteh
C Salient pole rotor | H&T ¢a AeT

D Smooth cylindrical rotor | faieheIT SefeiTehR e
answer:C,

Q4 What is the formula to calculate emf equation of an alternator? | oAl & é‘UIl'UCF
HHTHIOT ST ITOTAT el T G FAT 572

A E=444 K K. T ¢,

s E =222 K K, Fo,,

c E=4.44 Ky K. FT ¢,

p E=1T1TK K. F ¢,
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answer:C,

Q5 How alternators are rated? | 3lee{aieX &l hdl 18 ThaT STAT &7
AKVA | &dT
B Kw | fraitare
C Mw | A3TaTe
D Kv |&dr

answer:A,

Q6 Which formula is used to calculate the percentage voltage regulation in
alternator? | 3ieeTeieX # YA dledst fafade & 0T ¥t & fT fohey g ot
39T fohaT SATT §7

Y
n” T x 100
AV

Vo=V
2 £ x 100
B Va

Vo=V
T N [
v

V-V
R w x 100
D V.

answer:B,

Q7 What is the supply frequency of an alternator having 6 poles runs at 1000 rpm? | 1000
IHRTH T 6 ¢JaT aTel Teh 3oeTeie i ATdfel 3T o g2

A 25 Hz

B 40Hz

C 50 Hz

D 60 Hz

answer:C,

Q8 Calculate the speed of an alternator having 2 poles at a frequency of 50 Hz? | 50 g8 &r
3T 9X 2 ¢at arel Ueh 37eeTeAex T It hY IT0TAT HY?

A 1500 rpm

B 2500 rpm

C 3000 rpm

D 6000 rpm

answer:C,

Q9 What condition the lamps become dark in dark lamp method of parallel operation of two
alternators? | ﬂﬂﬁﬁ%wm*%ﬁﬁﬁﬁﬁqmmﬁ%mg?
A Terminal voltages are equal | €fAdT dicesl RIS &

B Voltage and frequency are equal | ateest R 3Ty s &

C Voltage and power rating are equaled | alecst 3R qTaR T RIS &

D Frequency are same in both alternator | €leil 3feeteiex H TG FHTH &icil &

answer:B
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Q10 How to compensate demagnetizing effect due to armature reaction in an alternator? |
3eciaieX 7 TR IfAfhar & HROT ST Torra Hr RIS Hd HL?

A Reducing the speed of alternator | 3TeeaieX T 31Tl I HA FHIAT

B Reducing field excitation current | H1eg 3aSTAT €IRT &l el HIaAT

C Increasing field excitation current | fhes 3t &RT & gefer

D Increasing the speed of alternator | 3Teeaiex & T TET=T

answer:C

Q11 What is the use of synchroscope? | FIshIRIT ST 3UTNIT AT 72

A Adjust the output voltage | 3TT3€Ye aleesl &l HAATSIT HY

B Adjust the phase sequence | BT W TATST L

C Adjust the supply frequency | mqﬁ gy FARNTST Y

D Indicate the correct instant for parallellng | TRT FHATACT o TIT HEY A Hehel
answer:D,

Q 12 What is the name of the equipment that provides D.C to the rotor of alternator? |
3oeTare & Ul F D.C YT et aTel 3UHITN T ATH FAT § ?
A Exciter | 3dsTeh

B Inverter | 3=ac¢T
C Converter | adacI

D Synchronizer | fsBR

answer:A,

Q13 What is the purpose of damper winding in alternator? | 3Teesie # 3o arsfsar &1
3T FATE?

A Reduces the copper loss | ATel & wJehaTeT I & HIcll &

B Reduces windage losses | a3 BT% P FHFIAT

C Reduces the hunting effect | &1 & THTE T AT Y

D Improves the voltage regulation | fde7ar fafergersr & guR T g

answer:C

Q14 Which condition is to be satisfied before parallel operation of alternators? | 3TeelaieX &
FATATR TaTelel & ggel fohd AT st dqse fonar it g2

A Rating must be same | ¥f&31 AT A TR

B Phase sequence must be same | %3t 3TeTshaT AT &Il AlaT

C Rotor impedance must be same | X SrcraTeT T gl Tifgu

D Stator impedance must be same | ¥¢eX SF4ISH AT gloTT AT

answer:B

Q15 What is the speed of an alternator connected with a supply frequency of 50 Hz at rated
voltage having 4 poles? | 4 Tel aTel Y¢S AledsT W 50 §EH T 3MYfcl AT & A 33 Teh
3eciaiex Fr arfa Far 82

A 1000 rpm

B 1500 rpm

C 3000 rpm

D 4500 rpm

answer:B,
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Q16 What condition the two lamps become bright and one lamp dark during paralleling of
two alternators? | &I 3Tee{aiexl o THTTAR gleT o GIRTeT &l o fhd gTeld H STeld ¢ 3R Tah o
TS ST 872

A Terminal voltages are equal | cfieTel diocsT R §

B Voltages and frequencies are equal | alecst 3R TharadT sReR &

C Voltages and phase sequence are equal | alesT 3R %ol 37elshd ST &

D Both the alternators receive same frequency | @lei 3eeleie AT 3TgTT ITed T &
answer:B

Q17 What causes the terminal voltage of an alternator reduces, if the load increases? | af¢
HR &l &, dl TeeeIey T CTHTel Alecol hH glel T HROT & ?

A Field resistance | & gfaRrer

B Armature reaction | 3R wfafskar

C Inductive reactance | 9Re Tfafshar

D Armature resistance | 3@ gfarer

answer:D,

Q18 What is the purpose of using damper winding in AC generator? | AC S{eleX # SFIX
TS 3T T YT el T 36527 FAT 872

A Prevents heating | &1f¢eT &r UshcT &

B Reduces copper loss | dTH FJehaTl &l e HIT &

C Reduces windage loss | 8Tl &I H Hcl &

D Prevents the hunting effect | f¢aT & 93T T UhelT &
answer:D,

Q19 What is the type of alternator? | 3Teci{eiex &l YehR FT &7

A Brushless alternator | 12T gl 3Tecaic

B Three phase alternator | cifel %ol 3Teeisiex

C Single phase alternator | Tehel %ol 3Teeiaiel

D Salient pole type alternator | Aferie ¢ Jh eIy
answer:A,

Q20 Calculate the speed in r.p.s of the 2 pole, 50Hz alternator? | 2 9iel, 50Hz 3Tec{aicX
Fr.p.s 7 1T Fr IO HI?

A 50 rps

B 100 rps

C 1500 rps

D 3000 rps

answer:A,
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Q21 What is the advantage of using rotating field type alternator? | ﬂ‘?ﬁ?r 89 JhRR 3Teciale]
T YT et T FAT BIICT g2

A Easy to locate the faults in the field | 8 & I T IdT SIITT=AT 3THTA &

B Easy to connect the load with alternator 37eeIsieX o TATY WIS Tl Toldre AT AT &

C Easy to dissipate the heat during running &lssT & GIXTeT ITHT I thellaT AT

D Two slip rings only required irrespective of No. of phases | & T Rait fr 3maeTendr gidr
&, TTe olt T TEaT fhae ofr &)

answer:D,

Q22 What is the effect in increasing the field excitation current in alternator? | 3feelsict H
HTes ITotell TRT T S¢lel I FIT T USdT 872

A Prevents demagnetizing | fa=relel & AT &

B Over voltage protection | 37T atecdr & TXETOT

C Dead short circuit protection | Fef 2ii¢ @fée waor

D Alternator will be over loaded | 3Tee<aieX 3i1aX <iSs gIam

answer:A,

Q23 Calculate the pitch factor (KP) for a winding having 36 stater slots 4 pole with angle (a)
is 30° in alternator? | 3TeeTe1e & 30° IUT (a) & AIY 36 T Fellc 4 GIel dlel GATIER o T
B HheFeX (KP) &I 1011 hi?

A 0.942

B 0.965

C 0.978

D 0.985

answer:B,

Q24 What is the cause for hunting effect in alternators? | 37eelaie H §feaT & YT T HROT
FAT8?

A Due to over load | 318 #R & &ROT

B Running without load | T9T &3 & Tl (&T &

C Running with fluctuation of speed | 3Tfal & 3dR-UeId o AT T 6T &

D Due to continuous fluctuation in load | 18 & AR 3dR-TGI & HROT

answer:D,

Q25 Calculate the voltage regulation in percentage if the load is removed from an alternator,
the voltage rises from 480V to 660V? | TS Teh 3TeciaieX ¥ oS gl fear Srar &, o dlec
480V ¥ 660V deh ¢ SITdT 8, dlecst [afaadet gfaerd # omr Hifad?

A27.2 %

B 32.5%

C375%

D 38.5 %

answer:C,
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